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y = -0.0012 x + 0.9964 
R² = 0.9927 

y = 45e-0.014x

R² = 0.9381
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(°Brix) (mg/g-DW) (mg/g-DW)

1 7.45 ± 0.24a 0.38 ± 0.03a 0.33 ± 0.03a 45.7 ± 0.76a 24.2 ± 0.73ab 30.3 ± 1.02a 1.00 ± 0.00b

0.53 6.78 ± 0.19a 0.34 ± 0.04a 0.32 ± 0.04a 45.0 ± 1.05a 24.8 ± 1.19ab 31.8 ± 1.07a 1.82 ± 0.44b

0.32 7.33 ± 0.28a 0.35 ± 0.72a 0.32 ± 0.02a 41.6 ± 0.67b 22.4 ± 0.65b 31.2 ± 2.31a 6.92 ± 0.49a

0.13 7.87 ± 0.24a 0.41 ± 0.03a 0.27 ± 0.03a 40.8 ± 0.69b 19.1 ± 1.20b 29.7 ± 2.34a 6.53 ± 0.56a

0.06 6.77 ± 0.11a 0.37 ± 0.04a 0.27 ± 0.03a 40.7 ± 0.51b 18.5 ± 2.46a 29.7 ± 2.46a 5.81 ± 0.49a

± n=3-6 . Tukey-Kramer  (P <0.05).

LTO L* a* b*








